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HENRY PARK PRIMARY SCHOOL
2009 SEMESTRAL EXAMINATIONT |
SCIENCE =
PRIMARY 4 | -

 Duration df-P-a[i_ar:: 1 h 45-min

* Name: __ Y O - Parents Signature . ©

- Class: Pr 4 _

PARTA; 60 marks

e -For each questton from Ato 30 four optwns are:given. Oneof them'is- the comrect answer N
' Make your chome (‘l 2, 3 or 4) Shade the ‘correct ovat (1, 2,3 or 4)on the: Opttcal Answer _

_ '_Sheet

-' 1.} -Sany obsewed a Sﬂbstance and- concluded thatitis-a gas. Which of the
- following. statement(s) below support(s) his conclusion?

A: it can be compressed
 B.lthas a definite shape.
C: It does nofhave mass.
- 'D: it has a definite volume.

(1) A only

(2)C only

{3} A and B only

{4) B and D only ( )

2. Which of the following item(s) will take the shape of the pan below?

A: Soup

- B: Marbles
C: Orange juice -
D: Water vapour

{1)Bonly

(2) A and C only

(3)B and D only

{(4) A, C and D only { )
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3. Study the flow chart below carefuily. The flowchart is used to identify 4
items, A, B, C and D.

Start

Definite
vqlume‘?

Yes

Definite
shape?

Which one of the following correctly identifies items A, B, C and D?

A B C D
(1) radio ice water droplet candle
(2) fire juice water chair |
(3) mMusic water vapour petrol "~ bread
{4} sand sun light juice .t computer
2
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-4, An expenment was set up as shown below to collect pure water. Water
. evaporated in Xand condensed inY.

thermometer

water

saltwater .~ N

.xl

pure water

Which'of thé following describes what h-ap;ﬁens in X and Y?

Al anuid in X-gained heatand changed to gas.
B: Liquid in-X logt: heat and changed to gas.
C:'Gas'in Y gained heat and changed to’ hquld
D: ‘Gas in Y lost heat and changed to fiquid.

{1} A and C only
(2} A and D only
(3)B and C only
(4)B and D only

P4 Sc SA1 2009
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5. Tim placed a cup of water, filied to its brim, in the freezer over night. The

next day, he sealed the cup’s opening with an airtight lid and leftitona -~

table top under the sun.

vAy
<3 o
air-tight id @\

sun

ice ~ table top

pd

\\_{///

At the end of the day, which of the following change(s) in the water will he
observe?

A state
B: mass
C: shape

(1} A only

(2) C only

(3) B and C only
(4)A,Band C

P4 Sc SA1 2009
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The eapactty of contanner Als 1 500 cm®

-and the capacity of container B - :
is 1200 cm ' e e

 Gontainéra. - “vortather B

- ' :When both cantatners aire emply. whlch one of the faliowmg ameunts of
.. stibstang betéw can beé:stored inside. cmtamer A: but not mstde o
. .--eentamer_ .-wﬂen their ﬂds are closad? e

L -(1) 1200 cm3 o¥ga
{21200 i gt tiquid
. (8)1500.cm® of gas
' -(4) 1500 ml of liquid

7. Susan: made some observatfons onthe states of water and recorded them
~ inthe table beiow

States of Definite Definite Can be
water shape volume | compressed
A No No Yes

B Yes Yeos Mo
C No - Yes "No

Whicta one of: the followmg below correctly identifias the states of water
- as-described in AB and c? .

A B C
) water vapour water droplet ice
1@ rain, ice water vapour
43 ‘water vapour SNow water droplet
(4) steam ice sSNow
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8. Lynn oonducted an experiment following the steps below using a deﬂated
balloon.

She measured the mass of the balloon {and air inside the balloon) after o
each step. -

1. Measured the mass of the deflated balloon

2. Pumped some air in the bafloon o : \mmasa )
3. Allowed some air in the balloon to escape ( mas$ decreaséd berquie. dif

4. Pumped in more air in the balloon :

Which one of the following graphs correctly shows the mass of the
balloon and air inside the balloon from the start until the end of her

experiment?
M )
Mass (g) Mass (g)
ry F 3
0 Time (s) 0 Time (s)
(2) (4)
Mass (g) - Mass(g)
4 4
» »
0 Time (s) 0 Time (s)
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[ -

8. Timwanted tofind out havﬁ'_the vﬁiuﬁje.ofrdbje&s is .aﬁéde‘d"by-:theiga; e
" shape. ' . SR ' :

He shaedthree pieces of plasticine each with a mass-of 20g-and -p_lgcsd;.-

them, one ata time, into a measuyring cylinder with sorhe water,

. measiring cylinder

Step 1 Step 2 | Step 3

He recorded the volume of water after each cbject was added in the table
below. ' o :
“Number of objects ' _._Volume {ml)
G 20
1 25
2 | T 30
3 | 35

B-a_séd on the data inthe table above, what can Tim -correct_lvy-infef'about
the mt_ume: of the plasticine and thair Shap__és?

(1) The mass of the objects is affectedby their shapes
- (2} Objects of different shapes ‘cari have the same voliime
(3) Objects with the same mass ‘can have differént volarries |
{4) Objectsof different shapes can have the different volumes {
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0. -Whic'_h'_.or.'t_he‘-:'fqaoéving activties wil produce heat?

- -.; A Bu mmg a haap -of dried leaves
S BiKnioeking, # piete of iron with a hammer
IR C Brym_ ﬁ-’me@e of damp towe! unﬁier the stn

'(1}A enly
@) AandBonly
S (S)Band Conly
(49A Band Coniy

P4 Sc SAT 2009
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picture below?

(1) 58°C
(2) 59°C
(3) 60°C
{4)61°C

P4 Sc SA1 2009
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What is the temperature of the laboratory thermometer showninthe .
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. A bowi of hot seup at 80°C is placed in a reom. S

© - Whichione of: the: foflawmg graghs: 'correct ly shows the change in the
temperaiure of the soup after a long period of time? -
@y ©
Tempe'gm_wre ' "I'én;_peratur:e
o . foom R ' ' room -
- “——*--“--ﬂh--'m‘}aamm o et et e — . — —_ tﬁnpﬂ'ﬂtﬂ[‘e
- Tine Time
@ (4).
| Temperatue  Temperature
- SN ol _
' _ y _ _ room
O DR . SR b SR .
Time. Time
13.  Study the set-up below.

- P4 Sc SAtT 2009

orange juice—-t

B: spoon

Crorange juice

D: air sutrounding the glass
{1) A only

(2YBand C only

(3YA, B and C only
(YA, B,Cand D

10

spoon

J——ice cube

glass

‘The ice cubes in the glass are gaining heat from the
Aglass
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- 14, Three pieces of wax, X, Y and Z, were attached to a circular steel fronging - -
as shown below.

When the ring was heated, wax Z melted first, followed by Y and then X.
At which point, A, B, C or D, was the ring heated?

(HA

(2)B

(3)C _

(4D (

15.  The diagram below shows a bowt of hot noodies.

metal spoon
hot noodles

porcelain bowt

Which of the following correctly shows the heat gain and heat loss taking

place?
Hot noodles Metal spoon Porcelain
bowl
(1) Heat loss Heat gain Heat gain
(2} Heat gain Heat gain Heat toss
(3) Heat loss Heat loss Heat gain
{4) Heat gain Heat loss Heat loss

P4 Sc SA1 2009
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- 16.- Peterleft a.cup of hot chocolate drink in-an air-conditioned room. He.. . -
L tecorded the temperature of tha drink over & pefod-of time. Unfortunately,
- he'mixed:-up his set of data with thase from the dther experiment.

 experiment doné by Pefer?

~ Which pne of the following sets of data stown béfow befongs to the
B

_ @

. S5 N . U
01 8 -0 1 8 1

L R R B ST T 30

S - N SR N I N A D A
(2) _ ' _ . ' " (4.)

. Timie (min) T Temperature | [~ Timo (nin] | Temperatire
SRS e L c)

5 1 a0 s 29
T IR - 0 145
A8 | 45 15 65,
20 85 2 T &0

17, Study the pot-below. Sammi is to choose between rubber and metal for
part X.-She decided to choose rubber. |

' Which_ one of the following statements best explains her choice of
material for part X? '

(1) Metal is a stronger material as compare to rubber.
- {(2)Rubberis & stronger material as compare to matal,
(3)Metal is a better conductor of heat as compared to rubber.
(4) Rubber is a better condictor of heat as compared to metal. X
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Which of the following activities correctly explain the uses of expansion-of

matter due to heat in our daily lives?

A: Inflate a balloon by blowing air into it.

B: Loosen a tightly-screwed metal lid of a jar by pouring hot water over it.

C: Alcohol level 'rises in a thermometer when placed into a beaker of hot
Water. -

(1) A and B only

(2) A and C only

(3) B and C only

(4)A,Band C

The two glasses, X and Y,' are stuck together as shown below.

Which one of the foltowing methods will enable us to separate the
glasses?

{1) Put ice cubes over X and Y.

{2) Pour hot water over X and Y.

{3) Put ice cubes in X and dip Y in a basin of hot water.
{4) Pour hot water in X and dip Y in a basin of ice cubes.

13

P4 Sc SA1 2009




2009 — P4 — SC - SA1 - Henry Park

_20 The dtagram betow shows two tdentzcai botties X and Y that are
connected by & glass tube

Battie )( is placed into a basm of cold water as shown fih-:-th'e-diagramf .
- below. '

ink d roplet

L

‘Basin of cold e
water = "]

What will happen to the ink draplet in the tube?

o) Rewilf move to and fro
T @yitwit move.towards bottle X.
L (3YItwill move towards bottie Y.
(41t W{ﬂ remdin in its-original position.

| 14
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21. Study the diagram below.

Plastic bag 3
‘/
8
1}

e
— —"4 e g A —
it B ol o =1-——hot water
— ] Rl

A B C

Samy noticed that the plastic bags started to inflate one by one. He
observed the order in which the plastic bags inflate.

Which one of the following correctly shows the order (from the fastest to
the slowest) of inflation? :

(1)A.B,C
(2)B,A,.C
(3)B.C,A
(4)C,B, A

15
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| 22, Look at the two beakers, A and B, containiing an equal amount of water: - -
100 ml |

What mi!fhanpan to th&temperatute of water fmm Beaker A and Beaker
wﬁen peured mta an emﬁ‘ty basiti as smwn belaw? )

- water from
beakers Aand B8

( 1 ) The temperattme of the water is less than 30°C.
- (2) The tem rature. of the: water is nore than 70°C.
{3) The: tempefature of the water is fess than 70°C but more than 30°C. .
{4y The tempetature of the water is more than 70°C but less than 30°C {

o 16
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23. Beakers A, B and C contained different contents as shown in the dlagram .
below. They were left on a table for 3 hours.

tce cubes

.e
555
S

Which one of the following sets of graphs correctly shows the change in
temperature of the ice cubes, tap water and boiling water after 3 hours?

&)
Temperature
O
(2)
Temperature
Q)
‘ :‘ bt tieratiotd [
I.f
A
L »
Time

P4 Sc SA1 2009
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Temperature
Q)

(4)

Temperature

Q)

17
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24, Study the classification chart below.

'An_.imal_.s',__- :

Tffe ammals in the twegmups above are ctasmﬁed aceordmg to a

A Where they live
" . B: Presence of fegs |
- = CrHow they move: aboit
- '-Q' Type of auter tmdy Qovenng

(1)A and C only
. {2)BandDonly
{3)A, B andC only
. {HA, C and D only

18
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25. Observe the drawings of some leaves below.

feafl A Leaf C

Leaf B _ Leaf D

Which sets of leaves are correctly ciassified?

Leaf edge
Jagged Entire
(1) A B C.D
(2) A C,D B
(3) B.C.D A
(4) A, D B,C
19
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26, Study the classification chart below.

'~ mango-

rambutan

papaya

dufian

‘Which one:of the fbilomﬁhg*cerr&ecﬂz shows the headings Y and Q2

Y

Q

(1)

one seed

smooth skin

(2)

many seeds

rough skin

{3)

smooth skin

one seed -

@

-;'rcugh skin

many seeds

P4 Sc SAT 2009
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27.  Jenny observed a living thing and concluded that it is a plant and not an

animal.

Which one of the following characteristics best supports her conclusfon?

(1) It can grow.

{(2) it can reproduce.
(3) It makes its own food:
(4) it can move on its own.

28. Study the chart below carefully.

Animal P

\

Animal Q

/

Similarities

It lays eggs
it has wings

Differences

It has three body paris

Its body is covered with
feathers

Which one of the following correctly identifies the group of animals that
Animals P and Q belong to'?

B Animal P Animat Q
(1) Fish Mammal
| {2) insect Bird
73) Amphibian Fish
(4) Bird _ Insect )

P4 Sc SA1 2009
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29, Jirfr thiniks that the size of a bean will affect how fast It will germinate, -

b

R Wﬁuzh eneef th&ioliowmg W:ia&es*bghw should he change in orderto
R -"test h:s hypotheSis’? '- - B - -
. (1)The type of soil
- {2) The size of baan

- (8) The amount.offight
: (4) T he number ofbearis

'30.. .,Lynn therved a thrck !ayer of oif. ﬂoatmg on the surface of the pond
T water. -

: -thick- {_aygr of oil )

pond water

E Which: engamsm(s) A, B, Cand D is/are likely to be most affected by'th'e
- thick-layer of oil-on the water? ' -

{1) A only

{2yD only

¢3) B, Cand D only
4} A, B and C only

End of Part 1

o : 22
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HENRY PARK PRIMARY SCHOOL
2009 SEMESTRAL EXAMINATION i
SCIENCE
PRIMARY 4

40

Name: { )

Class: Pr4

PART 2 (40 marks)

Write your answers to questions 31 to 44 in the spaces given.

31. 100 ml each of substances X and Y are placed inside two syringes. The ends
of both syringes are sealed shut.

Substance X

100mi - __50mi.

Before the plung'er ——.
is pushed in 2

sealed end

After-the plunger 100mi S0mi
ispushedin, gm | ! / l /

Substance Y
100mi 50ml

‘ /

Before the plunger
is pushed in

sealed end
100mi 50mi /
After the plunger -
is pushedin _ B | i
23 '
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@) - State otie difference between theyproperties of the'substarices X and Y2 (1m)

| Sﬁ_bstah{:e%)(: S I -

- Substance’Y:

-b) State one: gim iiarigm the praperties of both substances Xand Y. - (1m -

¢} Predict the new volume of the substance X , after the plunger is pushed = (1m)
in, if 80mi of substance X is placed.in the syringe at first.

. 24
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32. When water was poured into the glass funnel of Set up A, it did not flow into
the beaker. However, when water was poured into the glass funnel of Setup. ..
B, it started to drip into the beaker. '

water -

glass
funnel T—sxeEEE rubber.

""""" stopper

gfass
tube —1

water
droplets

o ¢

beaker

L )Y e —
_ water
Setup A Setup B
a) Whatis inside the beaker in Set up A? - {1m)
b)  Explain the purpose of the glass tube in Setup B. (1m)
c) Without removing the glass funnel, glass tube or the rubber (1m)

stopper, suggest one possible way to stop the water in the glass funnel
from entering the beaker in Set up B.

25
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- -'33.._.- 'Harro thinks that the greater the volume of an object, the great’ér‘its mass..

- He _'grirang_ed the.fot;jects_-;in the-QEagram:be_iqw, according tg_.tt_)ei;_r-:ﬁ’a;gs'witﬁ A
having the greatest mass, and D, the'smaillest rass. ‘He wanted to test his

- hypothesis.’

__greatest mass

smallest mass

QObject-A: ObjectB:
- plastic. . ironbar
~ bal filled

. with air

@) Whatis Haimo's hypothesis?

Object C:
 plastic
. ball filled
~with air

Object D: -
marble

- b} What instrument can be used to measure the dependent variable?

¢} Hamo's test was not a fair one. State o

make it 2 fair test.

ne variable that he must thangd to

. 26
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34. Tim placed two empty contfainers A and B, each with a volume of 400 cm on
the balance scales as shown below.

{0

Q) Which container A or B has a greater mass? (1my)

b) State one reason why the masses of containers A and B are different? (1m}

27 '
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Tlm pumped 160 cm® mere air into: centalner 8 and placed hoth contamers on o
a balanr;e scaie He observed that the scale is balanced '

7o) What ety ot aictan Timinfr oinis obsenvation?. ~(1m)

o 28
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35. Four pupils made the following statements about temperature.

Adam: Temperature is a form of energy.
Eve: Temperature can be measured using a thermometer.
Romeo: Temperature is @ measure of how hot or cold something is.

Juliet: Temperature is high when the weather is hot while temperature is low when
the weather is cold.

a) Whohas made an incorrect statement? : (imj
b) 'Rewrite the statement made by the pupil mentioned in (a) to a correct {1m}
statement.
Hint: You may only need to change or add a word to get the correct
statement.
29
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36. Inthe expenment below, water in the test tube was heated at a pomt as
- shownin the dfagram below for 5 minutes.

ON‘ y, o .
bubbles; sz&y T waterat
=7\ boiling point

) Whatis the'likely tefpetatuire of X?.Put 4 tick-in the comectbox. - (fmj

[ Temperature of X
[Morethan166°C™ |

Less than 100°C

[ Exadly 100°C

_J .

b)  Name one measuring equipment that can prove your answer in (a), (1m)

30

P4:8c SA1.2009




2009 — P4 — SC - SA1 - Henry Park

37. in the experiment below, two identical beakers of water conta:nmg dlfferent

amount of water are heated to 50"0

beaker A——

100 mi of

water gt —+ — - —

3 2

-

—bheaker B

50 mi of
—“+—water at

i e

An egg is put into each of the beaker as shown below.

beaker A——

100 ml of

water gt —¢4 — —

50°C

3 r

-

) beaker B

50 ml of

_ — 1—water at "
\@__/ 'SOOC

Each of the eggs is taken out of the beakers and cracked into a bowt to
observe the amount of uncooked pation as shown in the table below.

Egg in beaker A

Egg in beaker B

No uncooked portio'n

Some uncooked portion

a) Explain why the observation of eggs in A and-B are different? : {2m)

b) Using the same kind of beaker, how muchj water at 50°C wil be needed {1m)
to cook 2 eggs completely?

P4 Sc SA1 2000
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- 88. A spedial switch called a thermostat is used in & refrigérator to.control its - N

- temperature: The thermosta switches-on the réfrigerator systeni whenthe .
- Jempgralure rises to-above 5°C and switches oFWhar the temperature falls -
C L heRw T, o I : C o

- temperature (C) 4

5—

2}

| Memostat of o on

. GraphA©

E temperature (°C)

2

| :; thermostat. on off. on - time

Graph B

a) Whicl_;}-g_raph, AorB, correct{y..showé how the temperature inside the {(1m}
refrigerator changes over time?

. : 32 .
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The thermostat switch expands when temperature rises to above 5°C and it

corttracts when the temperature falis below 2°C.

An experiment is conducted to find out which types of Metal A, Bor Cis_

suitable for making the thermostat switch.

The table below shows the resuit of the experiment.

. Metal Time taken to reach 5°C (seconds)
A 19 '
8 15
C 25

b) Which Metal, A, B or C is most suitable for making_ a thermostat switch?

C) Explain your answer in (b).

P4 Sc SA1 2009
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39_ Ethan heated an empty ﬂask over the flame ofa. bumer as shown in the
L dfagram beiow

stopper -

©va)  Whatiwolid-happsn to the stopper after.some time?

'b)- Exptain your-answer in {(a).

_ 34
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40. The diagram below show 5 set-ups, A, 8, C,D and E. LR ’-.(}n{{\;
A B C D E
styrofoam  plastic styrofoam plastic

YUy

150 mi 150 mi 200 mi 200 m{ 200 m!
water - water water water water
90°C 70°C 90°C 70°C 94°C

Selena wants to find out whether plastic or styrofoam is a better conductor of
heat.

a) To ensure afair test, which 2 set—ups does Selena need to choose to (tmj
conduct her experiment?

nde |
b} Whatis the Hw&aaiéﬁ_variable in the experiment mentioned in (a)7? (1m)

35
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41, Lookat the four'ice cubes each of similar sizes below. The picture below e
- shows the different material Ice cube A, B and D are being covered with, while.

A B c b~

st plasticbiag  dncoveredice thin doth

~+. Nosl sacordei the timeithe ice cubes took to métt completely 85 showninthe -+
tabile below. © o T

[Tide cube | ﬁmetakenfortheicecube tomeitcompleteiy_ﬁ

a) ‘What céd:you infer from this.experiment? S (1}

b}  Anice vendor needs to deliver.-some ice blocks to-a cold drink vendor. (2m}

Which one of the materials shown in the above experiment would you
‘recommend the icé vendor to use to prevent his ice biock from ‘melting
quickly during the defivery? '

State a reasan for your chaice.

. 36
P4 Sc SA1 2009




2009 — P4 — SC - SA1 - Henry Park

42. Krysten planted some plants in three pots using soil from different locations in
her garden. P

She recorded her data in the table below.

Week _ Number of leaves
Soil A Soil B Soil C

1 4 4 4

2 7 6 2

3 9 5 2

4 12 5 0
a} Which soil seemed tgbe most suitable for the plants? (1m)
b) Using data fronfthe table above, explain your answer in a). (1m)
c} What must she do to ensure that the result of her test is reliabie? {1m)

37

P4 Sc SA1 2009




2009 - P4 - SC — SAl - Henry Park

43, _--';Sts;-;_dy-thg--ﬁow chart befow.

7 Doegitlive ™\ r

A Livieg things | . ive
N onland? -

a)  Which 'one-of_ﬁthe--organisms A, B, C-or D could be an octopus? (1m)

b) State-;ﬂ.né__reé"scm why organism B cannot possibly be a mammal. (fm)

- ©). State one similarity betwsen organisms C and D, - (1m)

. : 38 ' _ _ T .
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d} Jim wrongly classified water hyacinth as organism D. Explain why heis = (1m)
not correct.

39
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4. "Study the pictures of Animal A and Animal B below.

F  AdmalA

o .' '.--"fIhe_animal That fee.ds on the nectar«is iikely o have a beak Wthh caf reach
B '_-deep inte the: base of a flawer to geivta the nectar '

) Based on yeur obsenvation above whlch Ammal AorB, feeds on the
o nectarinssde the ﬂoWers'} '

b) Expiain- your answer. in a).

End of Part 2

' 'Setlehé:'Rébecca Lo & Wong Kui Fong
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EXAM PAPER 2009

SCHOOL : HENRY PARK PRIMARY
SUBJECT : PRIMARY 4 SCIENCE

TERM : SA1

Q1 1Q21Q3 |Q4/Q5]Q6]Q71Q810Q9Q10/Q11/Q12]10Q13]1Q14}Q15}Q16!Q17

1 4 3 2 1 4 3 4 2 2 2 4 4 2 1 1 3

Q18 1 Q15 1 Q20 {Q21 1 Q22 | Q231 Q24 | Q25 | Q26 [ Q27 1 Q28| Q29 | Q30

3 3 4 2 3 2 3 4 2 3 2 2 1

31)a)X: Cannot be compressed. Y: Can be compressed.

b)Substances X and Y do not have a definite shape and takes the shape of
the syringe.

c)50mi

32)a)Air was inside the beaker in set-up A,

b)The purpose of the glass tube in Set-up B to allow air to escape as air
occupies space so that water can than go in. _

c)Cover the glass tube with a rubber stopper.

33)a)Harro’s hypothesis was that he thinks that the greater the volume of an
object, the greater its mass.

b)Weighing scale.

c)He must use the same material.

34}a)Container A.
b)Containers A and B are made of different types of material.
c)Air has mass.

35)a)Adam.
b)Temperature is nota a form of energy.

36)a)Less than 100°C
b)A Laboratory thermometer.
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37)a)There is more heat energy when there is more amount of water in
beaker A hence the egg from beaker A has no uncooked portion.
b)200ml of water.

38)a)Graph B.
b)Metal B.
c)Metal B took the shortest time to reach 5C and 2¢C.

39)a)The stopper will pop out.
b)The air in the flask gains heat from the bumer and expands pushing the
stopper out.

40)a)Set-up C and E.
b)The type of material.

41)a)I can infer that sawdust is the poorest conductor of heat.

b)1 would recommend the ice vendor to use sawdust to use to prevent his
ice block from melting quickly during the delivery. Sawdust took the longest
time to melt the ice so when he is delivery ice, the ice will not melt so quickly.

42)a)Soil A. | ,
b)The plant in soil A had the most number of leaves at the end of week 4.
C)Repeat the test several times. '

43)a)A.
b)Organism B does not produce milk but mammatls do produce milk.
c)C and D makes their own food.
d)Water hyacinth does not live on land and organism D lives on land.

44)a)Animal A.

b)Animal A has as a very long and thin beak which can reach deep into the
base of a flower to get to the nectar.
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